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You have been called for the written test based on the online data furnished by you in the web application.
if_you have wrongly entered in the web any information or you do not possess the required

qualification as per our advertisement, your candidature will be rejected.

2. 9-97, 80 WA F g weA- IR F T A Y 3 adiem $r 3@y 90 BAee

The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is
90 minutes.

3. AR fawedt @i argiass yaR & g gt foeet & R v amifeew w9 @ wd @

The questions will be objective type with four options out of which only one will be unambiguously correct.

4. A% T AT 01 3w g 3R ueds Ieid Ieaw FTAT 0.33 3 Fer smem|
Each question carries 01 mark and 0.33 marks will be deducted for each wrong answer.
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5. 9%l & 3eaN &A & AU P fadfter wfd afea srerer oA seav-gfeae &y s

A separate OMR answer sheet with carbon coated copy will be provided to mark the answer options.

6. INTTRY =AY/ TITEY & &iet ST I & AN 3eaq- IFeearr & Haftra sifaer &1 sifeea 7 @y
3o T IIT FEATE|

- You have to select the right answer by marking the corresponding oval on the OMR answer sheet by
blue/black ball point pen.

7. UH WA & AT IHoeh 3R o1 T AT S ATAT ST |
Multiple answers for a question will be regarded as wrong answer.

8. IR W S # Afed yeA-9f¥asr & Az HI MUAAR Icx-9ffas § Rw_ v sy« ) s
11l

Question booklet code printed on the top right comer should be written in the OMR answer sheet in the
space provided.

9. A-GRTRT # TIhT AT AT HeTshatier Tel fordd |
Enter your Name and Roll Number correctly in the question booklet.

10. INTAIR Sea-qfecren 7 wsh wfafeear defl/are wardy & afer argeds & & Hr el anfge)
All entries in the OMR answer sheet should be with bluefblack ball point pen only.

1. gdreT gier & forverer &y 3ufeafa & & anusr giv-Rehe W graer FET Azl
You should sign the hall ticket only in the presence of the Invigilator in the examination hall.

Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc.. will not
be ailowed inside the written test hall.

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand over

the original OMR answer sheet to the invigilator and retain the duplicate copy with you.

14. sre-gfeaar el 3ot are v wa E
The question booklet can be retained by the candidates.

15. orfrer & wereT e & 2R 3T it adven gt S i A g §)

Candidates are not permitted to leave the examination hall during the first hour of the examination.

A 2 1493


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

aEAfEa-4t — @7 / TECHNICIAN-B - TURNER

1. ﬁmﬁ@aﬁ#ﬁﬂwﬁaﬁwmwu@mwmﬂaﬁﬁ

Which of the following is not a metal removal operation performed in a lathe?
(a) @7/ Boring (b)  afei9r/ Knurling
(¢) %fHr/ Facing () <9v efefar / Taper turning

2. @ra & A @ ffow, d9 50 B sAw Ad A H 2000 RPM W AAAFA fFa

STl &1 L]
Find the cutting speed, when a shaft of diameter 50 mm is machined at 2000 RPM.

(a) 314 ATYAFS / misec (b) 314 AFA/AFE / mmisec

© 314 AHA/@A¥E / mm/min (d) 314 HEYHAAZ / m/min

3. wmea & afg (V) 3R 3uEr Shesse (T) J8 ¢ 3R n s €, & @9 ey REs aa
Eo GHEOT FHT TE FT &

The correct form of Taylors equation showing the relationship between cutting speed (V) and
Tool life (T) where C & n are constants is

(a) VI=nC b VI"=C
¢ VT=C (d) VoTn = nC
4, 45°%F — WA AT B
45° is equal to ————— radians.
z z
(c) % (d) 3I9UFT H T P 78T/ None of the above

5. O ST NI F O9cT &

Density of Gray Cast Iron is
(a) 8000 FFa/ART / kg/m® (b) 7200 fRa/HEI * / kg/m?
(¢) 8500 fRam/AET ® / kg/m? (@ 8800 faFan/HeT * / kg/m?

A 3 1493
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10.

1.

247

‘@ ST AT % TS TF FH ST I Ahey aTell TIY 9 BT T AT [hae &2

What is the volume of largest rod that can be inserted in a cube of side length ‘a’?

2

(a) %aa (b) a

7
4
() —Z—a (d) I9NFT FHF T FIS 7S/ None of the above

UL N AT 1:10 §, A 300 P dag F g A dfew —— A R

The ratio of taper is 1:10, then in 300 mm length the difference in diameter is ————— mm
(@ 6 (b) 60

(c) 600 @ 300

oY F g dee 5T e @

In Lathe, tool post is attached to

(a) 95/Bed (b) aEH/ Carriage

(© ¥/ Spindle (d) R T/ Gear box

UdAcd @7 SI ZFS & aUeT
The SI Units of density is equal to

(a) /e ?® / Kg/ms? by  fFafAEr | Kg/mm?
(¢) SiwasrseT */ gm/m? (d) 3YFd F A HI$ 781/ none of the above

fArf@d & 8 arpat & § Fa @ g 39T wed B AT @ FE S0 G 32

Among the given following metals which can be cut with high cutting speed?
(a) @TaT AIgr/ Cast iron (b)  FET/Bronze

(c) 3TT Freel Tl / High carbon steel () UIATHF/ Aluminium

A5es Ve & T &1 gfaera fraem gar &7

What is the percentage of carbon in mild steel?

(a) 0.05% ad@& / Up to 0.05% (b)  0.10% §/ to 0.2%
(c) 0.2% A /to0.4% d) 08% ¥ /tol.b%
4 1493
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12. @< 3maRa gl F RifeT gdR & e aeq 8 2
In a hole basis system different types of fits are obtained by
(a) B¢ F Fad Raaa & BUT @FT/ Keeping the lower deviation of hole constant
(b) MFT & JTPR T T@HT / Keeping the shaft size constant
(c) oMFe & Fudr Har #t f8UT @FT/ Keeping upper limit of shaft constant
(d) IWFT F A A1F A87/ None of the above

13, urg &1 FARAT Hr sHFA

Units of hardness of metal
(a) ?a‘;aﬁlfﬁ?ﬁ N/mm (b) ST/ Joule
(©) 3 / Ohm @ TENRE / HRC

14. #NAT F S R ST 92 F 3827

The purpose of cutting fluid marterial during machining

(a) F9F0rT ¥ I ge=r & fAT/ To remove heat from the tool

(b) asNy T It ge=r F fAT/ To remove heat from the workpiece
(c) Hag @ ffaer A FUR &7/ To improve the surface finish
(d) Fudad @it/ All the above

15. A & 72 afesa & @ a7 @ o= Fifos Ve afesT waras g2

Which of the given below welding is a solid state welding operation?

(a) SoEFeET & 4341 / Electron Beam Welding
(h) wfader afeEeT/ Resistance welding

(¢) 9 AfesT/ Arc welding
(d) =T TEIT 3TN/ Friction Stir Welding

16. @#Tea & 39FOT § Awerar & gmfda ol Fr uga= &¥

Identify the possible mode of failure in cutting tool
(a) WFaT RA%aAr/ Fracture failure (b) dHA AEAAT/ Temperature failure
(¢) ured T&rara/ Flank wear (d) 39Cerd G/ All of the above

A 5 1493
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17. Ushel fg Frea dlel 39T & T dge] # shex Torama G@mg aar #7

Crater wear appears in which face of a single point cutting tool
(a) e/ Rake (b) &/ Flank
(c) &=/ Both (a) 31X / and (b) (@ =T/ Nose

18. few a1t AMEEt & ¥ Hila @1 WA 3T & BEE S gefag HIar g7

Which of the given parameter affect the tool wear?
(a) HBRAT/ Hardness (b)  @ICer Fr AT/ Cutting Speed
(c) ¥RUT/Feed (@ 390Fd T/ All of them

19. & o5 iifaw aoff & & @l @ & uFor T & fAv wEd afoel Rdwar 32

Which of the given material property is the most desirable characteristic for a tool material?

(a) 3Icda weafFa / Ultimate tensile strength

(b) FORAT/ Hardness
(¢) SIS / Ductility
(d) 3REFd H T FIS =781 / None of the above

20. T & o TADA F A, FAY F TUAR W ITAdH T FORAT A Srell AT & ggare
F

From the given below materials, identify the material having the highest hot hardness value
at room temperature

(a) HaoAed EFIE‘E'S! Cemented carbide

(b) THEY & 9r¥/ Ceramics

(¢) e T 3ol / Cast cobalt alloys
@ HSs

21. fAwffRd & & s @1 7399 3999 Q¥ F v acg 27

Which of the following statement(s) is/are true for an engine lathe?

(a) o =¥ aa A Aew Yol aF & w7 & o AT e % / Three Jaw chuck is also known
as self centering chuck

(b) T S arer TF FT THNT WH &1 A Fogg WA F OU S HhaF T HAGETHAT

gt 8/ A four jaw chuck needs dial indicator to correctly center the work piece

(c) AT °H H IGART e, TR AT NI Floh & WP 0T & AU fFar sar g/

Collet chucks are used for precise centering of round, square or hexagon stock

(d) 3FT T/ All of the above

A 6 1493
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20 FrrAfat@a & ¥ ®i9 9 FYST A AR 87

Which of the following statement(s) is not true?

(a) EATCHH & FIUT FIed ¥ T &Y FoIar & / Positive rake angle increases the cutting force

b) aF B Boar mdEFa abdw @ Fag B R B FERET FIA &/ Nose radius

controls the surface finish of machined work piece
(c) memﬁaﬁaﬂm%mmaam“mﬁmmm

%L & / Negative rake angle increases the cutting force but provides greater strength at

the cutting edge
(d) 3itufenaer AN F Fesr | UR FTA H foer & dagd &dr § / In orthogonal

machining, cutting edge is perpendicular to the cutting direction

23. wﬁ@wﬁaﬁwﬁmﬁﬁ,#ﬁa&ﬁﬁmﬁf@a##aﬁmwmaﬁm
Which of the following statement is not true w.r.t. tool geometry of single point cutting tool?

(a) AAE I e AN TdE W S TS @B Wi § S § / Relief angle avoid

rubbing of cutting edge on the freshly machined surface

(b) Y& FUT GATHE, JETT AT HUNHAF g Fhd & / Rake angles can be positive, neutral or
negative
(c) AT SR TsT FIOT A g F IUHOT FT GHYY & Y HIH 96 Nl § / Increasing

the end cutting edge angle increases the tool contact with work piece

(d) mﬁ?ﬁmiﬁfﬁ?ﬁﬁ?ﬁfﬂmﬁﬁmﬂﬁﬂ?ﬁﬂ?ﬂ'%’/Surfaceﬁnishof

machined part depends on Nose radius

24. mﬁﬁtmmmmmﬁmmﬁ#mmmaﬁm
Which of the following is not correct for the metal chips formed during machining?

(a) foee-39-tsr & IRUTAEEY HHAR W dg F6 fopforer &adT & / Built-up-edge

usually results in superior surface finish

(b) T '@ B AN FRa gE Ray e 3= fa 9T a3 £/ Continuous chips

are formed at higher speeds while machining ductile material

(0 dwita faow & A & ¢ B & 9 AL ﬁﬂfﬁ gidt &/ Severe distortion takes place

near to tool face in case of segmented chips

(d) MBI & e I a9 g F UFER, A A G adT W I @R 8/ Types of chips

getting formed during machining, depends on ductility of material

A 7 1493
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25.

26.

27.

28.

LI/

@ & @ a9 a1 aF s s arar syt a8 £7

Which of the following is not a work holding device?
(a) %H T / Face plate (b) T/ Collet
(¢) ™&h/ Chuck (d) d@& / Carriage

Y F R 9l & de 7 Fafaf@a 7 & &l w1 wya g a8 &

Which of the following statement is not true w.r.t. different types of Lathe?

() T ®H AU & 37ANT Gvw AR a3 3T aRggar 3ueen & et & o
F fow fsar Srar € /7 Tool room lathe is used for fabricating parts of jigs & fixtures and

high precision devices

(b) ThE &y F R i Fro-wEs 3dasr 787 g &/ Speed lathe does not have carriage

and cross-slide assembly
(0 oy R |9 9 F gues F fav g gefat @ 3uAier fFur Sar § / Chucking

machines are used to handle heavy and lengthier parts

(d) I AU & UMM =7 I FE F AT BRar Srar B Seh R W @ & wA 6
HTGIFAT AT & / Turret lathe are used for high production work which needs sequence

of cut to be made on the part

AU g Hed F TAT A ar E
A lathe half center is used

(@) THFNF FT gHAT GUE TS F AT/ To support the workpicce always

(b) o TFURT F Tot P & o0 / To turn long workpiece
() ¥d d% TFUE &g F B W THAT &A1 / To face the workpiece up to the end of the

center hole
(d) i aHNY A JAFT FAT IAE &/ Because it is easy Lo lubricate the workpiece

44ma/ﬁazﬁmgaﬁﬂmﬁmﬁé?mﬂssmwmm70%6&1‘&
arell ©g FT W F A, 3vdes gwr aifge

For turning of a 70 mm diameter rod using HSS tool with recommended cutting speed of
44 meter/minute, the rpm should be

(a) 100 rpm (b) 200 rpm
(c) 300 rpm (d) 400 rpm
8 - 1493
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29. ¥z # Y TEEeR X YT vae A A &
In center lathe tumbler gear unit is provided to
(a) fodse #1fd sget & AT / Change the spindle speed
(b) TSI & gHer dr fegen FEda & TIT/ Change the direction of rotation of workpiece
(© g T dge= & AT / Change the feed rate
(d) Prg IHT T FRASA TH 1Ty gaigd 9 F fAU/ Transmit motion from feed shaft to the
carriage
30. Afaf@a Fuel W @ER $T-

Consider the following statements:

(i) HOF FARX FE AN & FROT IIHOT OHET aF H I §¢ S &t/ Harder work

materials cause to increase the slope of the tool wear curve

@i1) ﬁwﬁmmﬁmaﬁrmmmmﬁaﬁmﬁmﬁmﬁr%une

Sharp cutting edge of a cutting tool wears rapidly at the beginning of its use
(a) @aer (i) W& § / Only () is correct
(b) & (i) WY €/ Only (ii) is correct
(© (i) 3 (i) = T &/ Both (i) & (ii) are correct
(d) &t (i) 3R (i) I1FT &/ Both (i) & (ii) are wrong

31. mmm%yﬁwﬁmﬁ@aﬁ#mmmmmﬁmﬁ?
As per hole basis system which of the following shows sliding fit:

(a) Hillell (b)  H9/d9
(c) HB8/18 (d) H7/gb

32. UF IR FEA & a5, A T R mh vegARTH Us F @A F T F A RN
g &

After a single cut, the difference between the diameters of machined and un-machined
aluminium rod is equal to

(a) @eldr Fr TS / Depth of cut (b) ¥ x e FI IETS / depth of cut
(¢) 2x@&c & TEE / depth of cut d 3IRFTHEF FIE 781 / None of the above

33. WRRd § @ #la owers 81 fadvar 78 87
Which of the following is not a feature of Tailstock?
(a) 3T WX 3 30T fR F9T @1 @A § / Drills and reamers can be mounted on it
(b) TG AT HT §Ies e ¢/ It holds the job
(¢) 3T TTIse W 38 FeT o gIar &/ Dead center is mounted on its spindle
(d) IwWad # § FI A6/ None of the above

A 9 1493
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34.

35.

36.

37.

38.

247

=T & R@re v 39T FT ATH SdBT-

Name the instrument shown in figure: -

() HFAW F TEI AT G / Firm joint outside caliper
(b) 315 @ HIAIT/ Odd leg caliper

(¢) HAIT & F1gT BT A3 / Spring joint outside caliper
(d) 3IWFT # ¥ 15 78T/ None of the above

The grade of a file is determined by
(a) WIS T AISIS / width of a file (b) U WISH HT daTS / length of a file
(c) &Idl T 3ia} / spacing of teeth (d) At fr AER / thickness of teeth

CNC 7ehe &1 397 =1 2

What is the purpose of CNC machine?

(a) 3T0F FEHAT & Y &T 3G / Bateh production, with greater accuracy

(b) Icue H 3@?‘% Z¥ AR / Rejection rate more in production

(00 0= TdFar & WY FH Ic9Ed &X / Low production rate with more accuracy
(@ 3RFd H T A 'ﬂﬁ! None of the above

gl &AW F sgaaa (@ &) f aoen #5Y, 38 G @ B 5 e qem R
grar = 1 AR it v affar e Bdeer = 49/50

Calculate the least count of the Vernier caliper (in mm) given that one main sale
division = 1 mm & one Vernier scale division = 49/50

(a) 0.01 {(by 0.02
{c) 0.05 (d 0.10

m@rnﬁrwm@aﬁ-sm@mm,mm

As the diameter increases, while keeping cutting speed constant, the rpm will be
(a) €M/ Increasing (b) @&/ Decreasing
() € ufad=r g7 819/ No change d 3WFIHA ﬂ’ﬂ? sTel / None of the above

10 1493
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39. w3 AR fir T &

Countersinking is the operation of

(a) 3@ T 91w B< 1 3 TG / Enlarging the drilled hole

(b) Ve F AT H ?if F HPR A SSMHT &1/ Making cone shaped enlargement at the end
of hole

(©) T v o B¢ F 3a & vy B3fFT/ Step drilling at the end of drilled hole
(@ f3o fpo ate &2 F 3T # V9 9IRET/ Step boring at the end of drilled hole

40. 5T 9FR & e & og Y Fegar &7 AT F Tegar AT F I giar 87
In which type of fit the tolerance zone of the hole will be above the tolerance zone of the shaft?

(a) GU e/ Push fit () FIIF e/ Clearance fit
() ershasT e / Transition fit (d) T T / Interference fit

41. Wi @1 g droadr i F ggrad F1 T oA war g2
Which code describes the auxiliary function of CNC machine?

(a) N U /word () MU/ Word
(¢ G ¥Isg/word (dy T s/ Word

42. IS0 #Afew T & ¥ & Fhanrt # Hor WA gr €
In ISO metric thread the flanks of threads are having included angle of

(@) 30° (b) 60°
(© 29° (@ 45°

43. ZfFr o % v Fla ar H15 9@ fear swar g2

What code is used for Grooving cycle?

(a) G28 ® G75
(c) G30 (dy G90

44. TR ges & 3FaR SR FER I A IERX F N SSAOANT AR FTFG AT §

The algebraic difference between maximum allowable size and the basic size of a component is
known as

(a) 3Ta fa=ree / Upper deviation (b) @& fagasT / Lower deviation
(¢) arEafas fa=e= / Actual deviation (d) IWRFT H q A5 AL/ None of the above

A 11 1493
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46,

47.

48.

49.

50.

TF 98 HEHR FseEst AiRe 97 e A ofenfa o av &

The screw thread sizes are defined in the ISO metric thread system
(a) oY I EFRT/ By Minor diameter (b) 9AW 418 €@l / By Major diameter
() M= cam &dRT / By Pitch dismeter (d)  ET ST ganrT / By Effective diameter

e I3 AT U SRRt T B gl & Feaa § 3R gE SRR 45° 9T @2
Which thread has one flank perpendicular to the axis of thread and the other flank is at 45°?

(a) ACME g/ Thread (b) =R I/ Square thread
(c) i I / Worm thread (d)  ¥¢H I3/ Buttress thread

frrfefea & @ fva yarae A 3 Aeddige Sl oo & 3991 fBFar Siar §2

Which of the following operations often use multipoint cutting tools?
(a) g AR AR AT/ Turning & Shaping

(b) fAfIT va BT/ Milling & drilling

(¢) AT AT 3T AZAT/ Planing & Turning

(d) AR &A1 3T AT &=4711 / Shaping & Planing

fiadie do Ay F R sfeq 3ieT o g ¥

In a universal engine lathe, gear box is mounted inside

(@) e / Tailstock (b) Tg;“&'f / Turret

(¢) Y/ Spindle (d) 390FT A A HZ A37/ None of the above
SR TEgar & 'BAGAIr & Ydd P qge

-Identify the symbol for ‘flatness’ in geometric tolerance

(@ (b)

(©) (d) 3UNFT A F FIS 781 / none of the above

ﬁmﬁ@aaﬁmﬁ‘x’asmaﬁrmﬁ[sm %):0

Calculate the value of ‘¥’ in the following equation (Sinx - ;—J =0

(a) 30° (b) 60°
() 45° d 90°
12 1493
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51. T & ToteT &1 o &L fagdr sas 2000 &, @iz 500 @, A 4 FA 3R gaed
7.85 glem® &1

Calculate the weight of steel having length of 2000 mm width of 500 mm thickness of 4 mm
and density of 7.85 g/em?

(a) 21.4Kg )  314Ke
(€ 41.4Kg (d 504 Kg

52. Trafaf@a & 9 &9 o1 vF e Y FT fTwmr D g2

Which one of the following is not a part of a centre lathe?
(a) Ase/Saddle (b s A5/ Feed rod
() 3MLEY Arbor (d) O F 9T/ Lead screw

53. wwe-fig ITHOT F 3T FF AY W I Fed T, IUI B 9 FH Fowm 32
While thread cutting on a lathe by using single-point tool, the tool moves in a path called

(a) FTOEHara / Epicycloid (b) TSI/ Cycloid
(c) Siell/ Rake (d) sfad ashdT/ Helix

54, TrAfaf@ad & @ B T6R § 2w &1 39 B39 3N e & Qv fFar aar 2

Which one of the following types of tapers is used for drills and reamer?

(a) #Y U/ Morse taper
(b) S=f €9¥/ Jarno taper

() U 3 emd 29T/ Brown and Sharpe taper
(d) #HEw e a1/ Standard taper pin

55. o uaftygdr geat AR AR A A F AU R geR A I 3w §?

What types of threads are suitable for small precision components and measuring gauges?

(a) Ffew cof@uas ?{é’HBritish Association threads

(b) Tgead 7 g/ Whitworth screw threads
(¢) 3 E@'/ Arme threads
(d) TR g/ Square threads

A 13 1493
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56.

57.

58.

59.

60.

61.

GET IT ON

= |V

Google Play

GLICICAR-CO g

Unit of strain is

(a) FIEAMARI /| N/m (b) FAIMARY / Mm

(c) L gFHE FET / No unit (d) fFEEmERAFE2 / Ko/s?

Ao cow & e T & AU R @R & 99 39gEa §?

What types of threads are suitable for lead screw of machine tools?
(a) Tofeer vaf@@E 37/ British association threads

(b) fEead §9 g9/ Whitworth screw threads

(c) UFH T3/ Acme threads

(d) dPR g3/ Square threads

B.A. &1 70 9T 99 &

The depth of B.A. screw thread is

(a) 0.61P (b) 0.6P

(c) 0.64P (d) 0.7035P

Qrfaf@a 3 @ #iF W gaca F de3f F 3R F7 A § (FH O7ca ¥ 3TT UeAcd odh)?

Which of the following is in ascending order in terms of density (from lower density to higher
density)?

(a) UGIARTA, diEl, W, 9RT/ Aluminium, Copper, Lead, Mercury
(b) T, Qﬂm, Ry, W4T/ Copper, Aluminium, Mercury, Lead
(¢) YRy, "y, e, U@Dﬁmﬂ/ Mercury, Lead, Copper, Aluminium
(d) 9RT, TegAIAYHA, diEl, rET/ Mercury, Aluminium, Copper, Lead

S HgUT T g §

Unit of torque is

(a) FYgA-FIEY/ Newton-metre (b) YA/ Newton
(c) dIe/Watt (d) S/ doule

Fedr aer $7 i = gwg efafaa & @ e veR ¥ ey ge Fa §?

Which one of the following types of chips is found while turning cast iron?

(a) ¥ g fO%/ Long Curly Chips  (b) WA ey / Segmental Chips
(c) TS faow / Spiral Chips (d) IUAFT H T FIS 7ET/ None of the above
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62. IfE FIex & 3IFOT AY W Fg A Fa$ q M v frar Iw ar wefifEe desrg &
gRads HTTe?

What is the change that will occur to the machining set up, if the cutting tool is set below the
centre height on lathe?

(a) he FONUIW U §¢ ST &/ Front clearance angle increases

(b) THA HT FAIIE W HH & AT g/ Front clearance angle decreases
(¢) e FeirW WIS & T &/ Front clearance angle remains the same

(d) THAA H FARNE T L gl arar / Front clearance angle become zero

63. WEY V' 9T & I FAFA H Fig FA F BT 3999 fFr I @ ¥ 3uwIon 7 @
U B 9% AER ¥ v 95 ¥ Mf@a & § R dea & S B 93 AET ¥
$r S 372
One of the precision instruments used to check the dimensional accuracy of an external ‘V°

thread is a screw thread micrometer. Which one of the following elements of a screw thread is
checked with screw thread micrometer?

(a) & =aTH / Major diameter (by & =Y/ Minor diameter
(c) To a1/ Pitch diameter (d) &/ Pitch

64. Stq Rl aFNE H FElFE U ¥ FEA A A ¢, A @9 R Rrew a7 d o
ﬁaﬁf#wqﬁﬂ?ﬁvﬁmﬁﬁaﬁ#mmaﬂmmmmh

While rough turning of a work piece with carbide tool is performed, long curly chips are
formed. Which of the following methods can be followed to get rid of this situation?

(a) ¥F PO @eol / Change the rake angle

(b) F9aOT 9T T §FW 9eiT H{ / Provide chip breaker on the tool

{c) U+ HT@ o §$ F7 39T &¢ AT 7w F &g o / Use a metal hook and pull away the
chips
(d) I0FT HF & PIF Jgl / None of the above

65. ©I FE Y URFAT H, TG FRA & ITAOT F WHA U] H TN WA IR § 0N & A 4§
aFAE & 3T g Sl § IR vanfee gl §

In metal cutting process, when the compression limit of the metal in front of the cutting tool
has been exceeded then it gets separated from the work piece and flows

(a) odrAYA ¥/ Elastically (b)  TEar ¥/ Rigidly
(¢) HAAATAT/ Plastically () 3IWeFd A F FI$ AT / None of the above

A 15 1493
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66. I Fc & F F IR R RAew fhad FRur g7 &7

Continuous chips are formed during metal cutting operation due to
(@) T P A / Ductile work materials

(b) 98T & FIOT/ Large rake angle

(c) 3T & dr A1 / High cutting speed

(d) 390ad THT/ All of the above

67. g FeH H AiEA F NF FRG BB ol & AT @ F [ S5 wv A
Ui T S 9o O B

The circle popularly used for estimating the various forces acting during metal cutting process
8

(a) FYET T I% / Mohr's circle (b) AT F GFH / Merchant’s circle
(¢) 39T & 21/ Both of the above (d) 3IIUFT # W g 727/ None of the above

68. Frfafld 3 & Rew #mT # gft & MRR # 9f% w18t et &2

Increase in which of the following quantity does not lead to an increase in MRR
(a) A & A/ Cutting velocity (b) @I F MEUT/ Depth of cut
() W18 &/ Feed rate (d) IRFT H A FE AL/ None of the above

69. AR Iy H {MRAR afa &F & P §
The function of the recirculating ball screw in a centre lathe is to

(@) goff aifd #r ¥@= 71T & aRafda #1/ Convert rotary motion into lnear motion

(b) Y@= 7ify & goif aifd & aR@fda FT/ Convert linear motion into rotary motion
(¢) 34T & )T/ Both of the above
(d) IWFT H & g A4 / None of the above

70. rafaf@a 7 @ #ia ar TRy dex 37 w78 = o7 wwar 32

Which of the following operations cannot be performed on a centre lathe?

(a) |AUT/Threading by B / Drilling
() FUAT/ Knurling (d)  @iEEoT/ Slotting

A 16 1493
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71. = sarm smr & R war § o9 B rpm 3 @ @er far e g < F Fed & a9 W
FAT THTE IFAT 87

The turning diameter is halved while the rpm is enhanced 3 times. What is the impact on cutting
velocity in turning

(a) 3797@fda/ Remains unchanged (b)  EAT &/ Increases
() FH & Fav &/ Decreases (d 3WFT H § S AL/ None of the above

72. efaf@a # ¥ #i9 @ Az T AR T A FGAAT F A0 3uZr frAr sivar 82

Which of the following code is used for tool nose compensation on the left side?

(a) G40 () G41
() G42 (d G32

73. ¥ WiF dmde B & 2o &7 3cued ae & fov RUu I« arer 3wl &1 9ar oene, afg
731 sard 30 TR ¥, over s 26 el §, S Y dard 100 TAFY § 3R e Hr A waR
200 & & '

Find out the offset to be given to produce taper in a tail stock offset method if, the big
diameter is 30 mm, small diameter is 26 mm, length of taper is 100 mm and the total length of
the job is 200 mm

(a) 2T /mm (b) 4 TAH / mm
(¢) 6%/ mm (@ 8TAF/mm

74. vw g # T F1 (o) fEuSF @ e sar g2
Helix angle (@) of a thread is given by

(a) tanl(lead/xd) . (b) sinl(lead/z d)
(¢) tan(xd/lead) (d) sin'(zd/lead)

75. @2 YA 9T 3cuieA ¥ AU & dag & W AW F v —— ——— A #r yrfRear
& STl B

To form small length of taper for mass production, method preferable is

(a) TP RFamer AT/ Compound rest method

(b) ®T 3T / Set over
(c) I 3UFIUT/ Form tool

(d) Hel#eT / Attachment

A 17 1493
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76. zrsfaer vocw @1 IqAr R arar §
The driving plates are used for
(a) TFNH & AT TS AGEAT/ Mounting fixtures with work pieces
(b) el & ST gHA grel AT / Rotating shaft between centres
(¢) &aer HIAT I’ / Facing operation only
(d) ¥ HARF YA & T/ For internal operation only

77. UF SRY ARHFERT A RONcAS e 1 w9 Ao sud ganr & o wendr &
An outside micrometer has a negative error. The correct reading can be taken by:

(a) areafas {fEar A Eﬁﬂ«‘rﬂ' FUMcHAS FfE ST / Adding twice the negative error in the

actual reading

(b) dareafds {fsar F wones E_I’f?,' 134T / Adding the negative error in the actual reading

(¢ arEafas HfST & momeRw Eﬁ I geTaT / Deducting the negative error from the actual
reading
(d) areafa® BT F T RHONEHF 3 T2/ Deducting twice the negative error from the

actual reading

78.  FAALH FOT, (1§ H0T AR FREIT AT FOT FT I FAW ——————— F FOE< @ B

The sum of the clearance angle, rake angle and cutting wedge angle is always equal to

(a) 360° (b) 90°
{c) 180° (d) 45°

79. UE HREA go fHwH T ReA 10, 9, 6, 6, 8, 8, 2 ¥, &1 TisE NAE For grom
A cutting tool having tool signature as 10, 9, 6, 6, 8, 8, 2 will have side relief angle is

(@) 10° b 9
(c) 6° ' @ 8

80. U& BT A Gloros+oon Fefy # §| FEMT e & A @loteowsocn FFEr ¥
qfyom#T 3Feel §

A hole is of dimension @10+0.0154000 mm  The corresponding shaft is of dimension
510+0.010/+0.001 ;mm_ The resulting assembly is

(a) @ AT T6T / Loose running fit
(b) Farar AT T / Close running fit
(¢) TS e/ Transition fit

(d) T=eTHE e/ Interference fit
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